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Choose the correct answer from the following: 1x20=20
1. What does good parenting require?

a. Providing a positive role model b. Encouraging productive behaviour

c. Engaging in adequate supervision d. All of the above

In a family, young people can be..................

a. Protected b. Victimized
c.Bothaand b d. Neither a nor b
Which can negatively affect children?

a. Racism b. Language barriers
c. Poverty d. All the above
Which is a common form of child neglect?

a. Failure-to-thrive syndrome b. Emotional neglect
c. Unsafe home environment d. All of the above

A family's environment can change over time depending onits..................
a. Structure b. Size
c. Economic conditions d. All of the above

A nuclear family consists of:
a. Husband, wife and children b. Husband, wife, children and grandparents
¢. Husband and wife d. None of the above

.

What is an extended family?

a. A family structure where multiple generations of adults live in one household.

b. A family structure where two parents raise their children in one household.

c. A family structure where one parent raises a child in the same household and the
other raises the child from a different location.

d. None of the answers are correct.

Which type of family consists of two parents and their children who live in a
household together?

a. Nuclear family b. Joint family )
c. Extended family d. Multi-generational family

Which one of the following is the main target of family welfare programs?

a. Couples in the fertile age b. Children below 12 years

c. Women after fertile age d. Male after fertile age
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What is the main aim of Janani Suraksha Yojana which is the programme by the
Family Welfare programme?

a. To provide pensions to widow women.

b. To provide shelters to poor people.

c. To encourage people to use safe sexual methods.

d. Reducing maternal and neonatal mortality.

Why is family planning important?
a. For birth control issues b. For having unwanted pregnancies
¢. For having child every year d. To get pregnant before the age of twenty

Which of the following represents a natural family?
a. Parents and children.

b. Single parent family.

c. Parents, children, grandparents, aunts, and uncles.

d. Mother, father, and their biological children.

Which of the following is not one of the characteristics of sexual harassment?
a. The encounters must be unsolicited and unwanted by the victim.

b. Perceived cooperation by the victim is only due to employment-related threats
. and/or promises.

c. The behaviour continues despite the victim's protests.

d. The encounters are publicly visible. i

As a societal institution, the family is responsible for meeting the instrumental and

expressive needs of its members. This consists of all of the following;:

a. Procreation b. Protection

¢. Socialization d. All of the above

Family welfare practice is characterized by all of the following:

a. It is consistent with assumptions that define family therapy.

b. It is consistent with social conservatism and social control.

c. It is consistent with the worker’s fiduciary obligation to meet the needs of the family for
basic goods, food shelter.

d. It is consistent with the fiduciary obligation to ensure the safety of family members from
abuse or neglect.

Child sexual abuse consists of:
a. Sexual fondling by a family member or relative b. Incest

c. Pornography d. All of the above

Which one of the following is the activity of the Family Welfare Programme?
a. Malnutrition programme b. Child marriage

¢. [UD programme d. One child one nation policy

There are a number of problems in the adolescent period for females.
a.True b. False

Which one refers to the behaviour that an individual engages in while enacting the role?

a. Role taking b. Role playing
¢. Playing at a role d. Role expectation
Putting oneself in the shoe of another person and understanding his/her perceptual world is:
a. Empathy b. Positive regards
c. Genuineness d. None of the above
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[ PART-B : Descriptive ]

Time : 2 hrs. 40 min. Marks : 50

[ Answer question no.1 & any four (4) from the rest |

1. Define families. Explain its common characteristics.

2. Explain any two theories in relation to family dynamics and welfare.
3. State the impact of urbanization on marriage stability and parenting.
4. Briefly explain the factors that influence socialization of children.

5. What do you understand by structural family therapy? Explain its
significance in social work intervention.

6. Write a short note on transgender families and its scope for social work
practice. ¢

7. Discuss the role of five year plans in empowerment of families and welfare.

8. Elaborate the functions of National Rural Health Mission.
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